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Graphing Linear Functions/ Multiplying & Dividing Fractions

| jelplotting
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HW:



3 forms of linear functions
Slope-Intercept Form y=mx+b
Point-Slope form y - %= m(x - xl)

Standard Form: Ax+By=C



Graphing a line in slope-intercept form (y = mx + b)

1) Determine the y-intercept of the line, b. The coordinate
is (0, b). Plot this point.

2) Determine the slope of the line, m.

3) From the y-intercept, use the slope to find your second
point.

4) Connect the points.



ex: Sketch. . T
1)y=x-3 /
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2)y=-3x +4 ;\










Graphing a line in point-slope form:
Y-y, =mx-x)

1) Determine the point (x, y,). Then plot this point.

2) Determine the slope, m. From the point plotted,use the

slope to find your second point.
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Graphing lines in standard form (Ax + By = C)

1) Find the x-intercept: let y = O and solve for x.
x-intercepts: (x,0)

2)Find the y-intercept: let x = 0 and solve fory.
y-intercepts: (O, y)

3) Connect the points.
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Review for quiz: Evaluating functions/
Function operations



ex: Evaluate.

f(x)-%x—9

g(x) =-x’=5x+1

h(x) = |9 —4x|

D49 £(5) = §5-1
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ex: Evaluate.

x)-—x -9

g(x) =-x’=5x+1

h(x) = |9 -4x|

2) #H

h(15)= [9-4-13

= /o 51| = 2%




ex: Evaluate.

f(x)-%x—9

g(x) =-x’=5x+1

h(x) = |9 -4x|

3) 8(-2)= - [nﬁ'—S(—@«\ﬂ“ |
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ex: Evaluate.

f(x)=7x-9

g(x)=-x"-5x+1

h(x)=3x"+5

4) 0-f(x)
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ex: Evaluate.

f(x)=7x-9

g(x)=-x"-5x+1

h(x)=3x"+5

5) 3/(x)+g(x)

3 (F-a)+ (A3
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ex: Evaluate.

f(x)=7x-9

g(x)=-x"-5x+1

h(x)=3x"+5

6) (/)

(7@§>2 F5)
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ex: Evaluate.

f(x)=7x-9 | g(x)=-x*-5x+1 | h(x)=3x*+5
7) h(x+2) N
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ex: Evaluate.

f(x)=7x-9

g(x)=-x*-5x+1

h(x)=3x*+5

8) f(-1)-g(2)
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ex: Evaluate.

f(x)=7x-9

g(x)=-x*-5x+1

h(x)=3x*+5

9) (f +h)(-2)

-2+ |7
-




ex: Evaluate.

f(x)=7x-9

g(x)=-x*-5x+1

h(x)=3x*+5

10) 4(0)- j(%)

(5)(2)
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ex: Evaluate.

féx)

1) f(2)-9(-3)
(-2) ~—-(,;A
O




ex: Evaluate.

x)
12) 59(-1) + 3f(5)

S(S)+3(-1)

AS5-3=219




ex: Evaluate.

Fx)
13) (g9-f)(0)
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